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C4DBCDB6B8O, >BA89AE4FBCDB6B8O < B5BDG8B64A<9); 
- B5BDG8B64A<9 8?S >BA8<J<BA<DB64A<S 6B;8GI4 (K<??9DO, 69AF<?SFBDO, A4EBEO, @4A<CG?SFBDO 
6B;8GI4 < F.8.); 
- E<EF9@4 6B8BEA45:9A<S < J<>?B6 (A4EBEAO9 EF4AJ<<, FDG5BCDB6B8O, E<EF9@O 6B8BCB87BFB6>< < 
BK<EF>< EFB>B6, < B5BDG8B64A<9); 
- E<EF9@4 E:4FB7B 6B;8GI4 (>B@CD9EEBDAO9 EF4AJ<<, D4ECD989?<F9?PAO9 E9F< < B5BDG8B64A<9); 
- E<EF9@O QA9D7BB5@9A4 6 F9IAB?B7<K9E><I CDBJ9EE4I; 
- E<EF9@O GCD46?9A<S QA9D7<9= ; 
- E<EF9@4 < ED98EF64 GK9F4 QA9D7BABE<F9?9=. 

2.#9D9K9AP B5BDG8B64A<S �" «&4I<4F4LE>B= &-%» CB8?9:4M97B B5E?98B64A<R: 
2.1. �BF?B47D974FO QA9D7B5?B>B6: 

- �BF?B47D974FO QA9D7B5?B>B6 № 7,8 – &� �-206 (�-670-13, 8-545 �# )  &474ADB7E>B7B >BF.;46B84; 
- �BF9? GF<?<;4FBDO #�'-1,2 - CDB<;6B8<F9?P « Generel eleEtric», Power System Korea. 

2.2. &GD5B47D974FO E G;?4@< E<EF9@O 46FB@4F<K9E>B7B D97G?<DB64A<S: 
- QA9D7B5?B> № 7,8 - �-210-130, �9A<A7D48E>B7B @9F4??<K9E>B7B ;46B84. 
- #�'-1,2 280  �F 74;B64S FGD5<A4: CDB<;6B8<F9?P «Generel eleEtric», %Ш�; F<C GT13E2; 

- C4DB64S FGD5<A4: CDB<;6B8<F9?P «Generel eleEtric», %Ш�; F<C – �200 
3. �9A9D4FBDO QA9D7B5?B>B6: 

�9A9D4FBDO QA9D7B5?B>B6 &�–7,8 F<C4 &��-200-2  ;46B8 <;7BFB6<F9?P - «-?9>FDBFS:@4L»  
- 79A9D4FBDO 74;B6B= FGD5<AO: F<C – �74 (WY18Z)CDB<;6B8<F9?P «Generel eleEtric», %Ш�; 

- 79A9D4FBD C4DB6B= FGD5<AO: F<C – �40 CDB<;6B8<F9?P «Generel eleEtric», %Ш�;  
4. &D4AEHBD@4FBDO: 
4.1. %<?B6O9 FD4AEHBD@4FBDO: 

- QA9D7B5?B> № 7,8  -&�*- 250000/220, 
- FD4AEHBD@4FBDO &-5,6 – &�&!� – 15000/110/35/6, 

- E<?B6O9 FD4AEHBD@4FBDO #�'-1,2 @BMABEFPR 250  �� < 1170  �� CDB<;6B8EF64 «SRECO»  
4.2. �6FBFD4AEHBD@4FBDO �&%-1,2-125000/220/110 

4.3. &D4AEHBD@4FBDO EB5EF69AAOI AG:8: 
- FD4AEHBD@4FBDO #�'-1,2 &%!-1,2; 

- D9;9D6AO= FD4AEHBD@4FBD &%$-3 &�&!�-40000/220;  

- FD4AEHBD@4FBDO &%�-7,8 - &$�!%– 25000/15,75/6; 

- B5BDG8B64A<S I<@<K9E>B7B J9I4; 
- Q?9>FDB86<74F9?<, 6O>?RK4F9?< < 69EP C4D> Q?9>FDBF9IA<K9E>B7B B5BDG8B64A<S; 

-"$'-6,35,110,220 >� 

-CD<5BDO < 84FK<>< ��#<� 

- B5BDG8B64A<S E<EF9@O 6B8BEA45:9A<S < 6B8BBF6989A<S; 
- 6B8BCB87BFB6<F9?PA4S GEF4AB6>4. 
- B5BDG8B64A<S FBC?<6AB-FD4AECBDFAB7B IB;S=EF64. 
- 46FBFD4AECBDFAB9 IB;S=EF6B. 
10. %B89D:4A<9 D45BF 

�B@C?9>EAB9 QA9D79F<K9E><= 4G8<F B5N9>FB6 QA9D7BCBFD95?9A<S #D98CD<SF<S: 
- <;GK9A<9 F9IAB?B7<K9E>B7B J<>?4 CD98CD<SF<S < BF89?PAOI GEF4AB6B>; 
- D4;D45BF>4 B5BEAB64AAOI D9>B@9A84J<= CB G?GKL9A<R F9IAB?B7<K9E>B7B CDBJ9EE4 E J9?PR 

EB>D4M9A<S >B?<K9EF64 < ;4FD4F <ECB?P;B64AAOI QA9D79F<K9E><I D9EGDEB6 <?< CB6OL9A<S 
CDB<;6B8<F9?PABEF< BF89?PAOI GEF4AB6B> CD98CD<SF<S; 



- �&5��4 &5�'-5�� %�%F�O=<O M=5$�>?>FD55?5=<O < 57> ED46=5=<5 E =>D<4F<6=O<t{

7=4G5=<O<< <?< >>=FD>?L=O << ?>>t64F5?O<}l, ?5=EF6GN M < M}l 6 >FD4E? < ;

- >?D545?5=<5 ?D>D<?O =47DG7>< ?D< <E?>?L7>64=<< 9?5>FD>M=5D7<< (?>G4E>64O,

4=56=4,rI, 565=545?L=<) ??O >5N5>F4 < >E=>6=>N M?5>7D>>5>DG4>64=<O;
- �?$545?5=<5 D4>7<G5E><E 74FD4F =4 F>??<6=>-M=5D75F<G5E><5 D5EGDEO (&-$) 6

F5E=>?>7<G5E><% ?D>F5EE4E, 6E?><>74F5?L=OE F5E4E < >5M5EF4=F<>==O< >5>DG?>64=<5<
?D54?D<OF<O, D4=6<D>64=<5 ?>FD55<F5?5= M=5D7G7<G5E><E D5EGDE>6 :

- ��$5�5�5=<5 D4>F<G5E><E ?>F5DL M=5D75F<G5E><E D5EGDE>6 6E5E 6tt4>6

9=5D7>D5EGDE>6 ?D< <E ?5D544G5;

- �3''5=<5 $56<<>6 D45>F, E6O74==OE E G4EF>F>-D5ry?<D>64=?l5< < D47D45>F4FL
>5>E=>64==O5 D5>><5=44F<}r;

- %�%&4�?5=<5 D4>F<G5E>>7> F>??<6=>-M=5D75F<G5E>>7> 54?4=E4 ?D54?D<OFtlO >F45?L=>
?> �E5< �<44< ?>FD55?O5<L6 D5EGDE>6 < EFDG>FGD=O< ?>4D4745?5=<O< ?D54?D<OF<O;

- <45=F<D<>4F<O < D4EG5F D4>F<G5E><E 7=4G5=<ri ?>>474F5?5= M=5D75F<G5E>>=
-DD5r7<6=>EF< ?D54?D<OF<O E GG5F>< <564G=4D>4=OE >?LIF>6 ?> ISO 50006 - �7<5D5=<5

-=5D75F<G5E><E E4D4>F5D<EF<> E <E?>?L7>64=<5< M=5D75F<G5E><E 547>6OE ?>>474F5?5= (�?�)
< <=4<>4F>D>6 M=5D>MDD5r7<6=>EF< (EnPl s) ;

- �,UI�?5=<5 6E5E D4>F>D>6, >>t6O64NM<E 7=4G<F5?L=>5 6?}tO=<5 =4 ?>>i64F5?<
M=5D75F<G5E>>= MDD5>F<6=>EF< ?D54?D<OF<O;

- 55=G<4D><=7 ?>>i64F5?5= M=5D7�7<G5E>>= MDD5>F<6=>EF< E> ED54=<<< ?>>474F5?O<<

?> >FD4E?<:

- $4�$45�F>4 =>D< D4EE>44 6E5E 6<4>6 M=5D75F<G5E><E D5EGDE>6 E GG5F>< 6?rtONlFtlE

D4>F>D>6 < ?D54?>65=<= ?> <E <>=}lF>D<=ry:

- <7GG5=<5 EGM5EF6GNM<E E<EF5< >><<5Dti5E>>7> < F5E=LlG5E>>7> GG5F4 6E5E 6<4>6

M=5D75F<G5E><E D5EGDE>6 < >?D545?5=<5 <E cooTBgTcTB}UI EGM5EF6GNM<< =>D<4F<6=O<
FD55>64=<O<;

- E>EF46?5=<5 D4>7<G5E><E EE5< F5E=<G5E>>7> < >><<5DG5E>>7> GG5F4 6E5E 6}r4>6

<E?>?LG5<OE M=5D75F<G5E><E D5EGDE>6;
- D47D45>F>4 >5>E=>64==OE ?D54?>65=<= ?> GE>65DL5=EF6>64=<N E<EF5<

F5E=<G5E>>7> < >><<5DG5E>>7> GG5F4 M=5D7>D5EGDE>6;

- >?D545?5=<5 ?>F5=F<{L4 EGM5EF6GNM5= D45>FO ?> M=5D7>E55D565=<N < ?>6OL5=<N

M=5D75F<G5E>>= MDD5>F<6=>EF<;

- Di�D45>F>4 F5E=<G5E>< D54?<7G5<OE < M>>=><<G5E>< L5?5E>>5D47=L6 <5D>?D<OF<=,

=4?D46?5==OE =4 ?>6OL5=<5 M=5D75F<G5E>>= MDD5>F<6=>EF< ?D54?D<OF<O E

?D54>EF46?5=<5< D4EG5F>6 M>>=><<G5E>>7> MDD5>F4;

- D47D45>F>4 < E>7?4E>64=<5 -=5D75F<G5E>>7> ?4E?>DF4 ?D54?D<OF<O:

- <7GG5=<5 M>E??G4F4F<>==L6 E4D4>75D<EF<>, 7D4Dr{>>6 < ?D>D<?5= =47DG7>< 4?O

>?D545?5=<O F>7>, <>7G7 ?}l >4><5-?<5> ?t7<5=5=<O E=<7!rFL M=5D7>?>FD55?5=L5 < 74FD4F 557

E=<65=<O 557>?4E=>EF< < ?D><76>4<F5?L=>EF<.

11. -F4?O >>474=<5 GLG7 (6O?>??5=<5 D45>F)
-=5D75F<G5E><= 4G4<F 6>JING45F 6 E55O E?54GNM<5 MF4?O:

-F4? l . .->>G<5=F4?L=>5 >5E?54>64=<5 ?D54?D<OF<O.

-F4? 2. �=EFDG<5=F4?L=>5 >5E?54>64=<5 ?D54?D<OF<O, E D47D45>F>>= < E>7?4E>64=<5< EE5<
<7<5D5=<=, GEF4=>6>>= =5>5E>4<<OE D56<<>6 D45>FO >5>DG?>64=<O, =5 =4DGL4NM<E GE?>6<=
557>?4E=>= M>E??G4F4F<<.

-F4? 3. �=4.?<7 < >5>5M5=<5 <=D>D<4F<<.

-F4? 4. %>7?4E>64=<5 < GF65D645=<5 >FG5F=>= 4>>G<5=F4F<<, D57<EFD4F<O -=5D75F<G5E>>7>
?4E?>DF4 ?D54?D<OF<O 6 G?>?=><>G5==L6 >D74=4E, ?5D5445F �4>47G<>G <4F5D<4?L! 6 46GE
M>75<??OD₠lE 6 5G<46=>< 6<45 < FD5E M>75<??OD>6 6 M?5>FD>==>< 6<45 ?4 CD/flash 4<E>5.

12. �5D5G5=L D45>F < GErrGr. �G5D5?=>EFL (MF4?=>EFL) <E <E?>?=5=<O

�5D5G5=L D45>F < GE?G7 6>JING45F, => =5 >7D4=<G<645FEO, >4> <<=tl<G<, E?54GNM<<



�4 MF4?5 I:

1.1 %5>D LI <7GG5=<5 4>>G<5=F4?L=>= <=D>D<4F?ttl >5 >5N5>F5 M=5D75F}rG5E>>7>
>5E?54>64=l{O, ct{cTe<aE M=5D7>E=4565=lrO, >5>DG?>64=<[{, ?4D4<5FD4E 57> D45>FO 74 ?5D<>4
?>E?54=<E FD5E >FG5F=OE ?5F:

- >D4F>4O E4D4>F5D<EF}t>4 ?D54?D<OF<O, E G>474=<5<
>5>5M5==>= <=D>D<4F<< > cllcFe<e M=5D7>E=4565=<O;

EFDG>FGDO G?D46?5=tlO 1.1

- 44==O5 > >><<5DG5E>>< Il F5E=<G5E>>< GG5F5 ?>FD55?5=ltO 6E5E 6}t4>6 FMD
>5N5>F4<< ?D54?D<OFt{O, EE5<O ?D<5>D=>7> GG5F4;

- ?>4D>5=O5 ?D<5>DO < <7<5D5=<O;

- >?<E4=<5 < D57?4<5=FO >E=>6=OE F5E=>?>7tlG5E>tlE �D>F5EE>6 M=5D7>5<>llE
?>4D4745?5=lr= ?D5??D}lOF?{O, EE5<O F5E=>?>7<G5E>tlE GEF4=>6>>;

- 44==O5 > cTpylEype lt >5N5<4E ?>FD55?5=<O &-$;
- =>D<O D4EE>44 &MD =4 >F45?L=O5 EFDG>FGD=O5 ?>4D4745?5=<O ?D54?D1.1OFtrO;
- >FG5F=4O 4>>G<5=F4G<O, D>D<<DG5<4O =4 >E=>64=Lr< >><<5DG5E>>7> t] F5E=tlG5E>>7>

GG5F4 ?>FD55?O5<OE, 6OD454FO645<OE tl 6F>D[lG=OE M=5D7>D5EGDE>6, 54?4=EO ?>FD55?5=ltO
&-$ < >F45?L=OE M=5D75F<G5E>?lE >5N5>F>6; .

- 5GE74?F5DE><5 44==O5 ?> D4�G5F4< 74 ?>FD55?5=<5 6E5E 6<4>6 &-$;
?5D5G=lr < E4D4>F5DlrEF<>< >E=>6=>7> F5E=>?>7?lG5E>>7> |1 6E?><>74F5?L=>7>
M=5D7>?>FD55?ONM57> >5>DG4>64= <O ;

- EE5</ < xapa*Tepl{cF}lKtI M?5>FD<t?5E>1,1% ceTeii, E>45D7(4tFIl5 tlHcPtlpMalrttKl ()

FD4=ED>D<4F>D=OE ?>4EF4=F<OE < M?5>FD>?DlrU<=ll>4E ?> =4tlD46J]5=1,1O< llEti>jlL7>t]4=tIO E

G>474=}i5� GEF4=>6?5==>�t <>t?�>EF< � D5)><<>6 D45>FO,
- EE5<O < E4D4>F5D<EF<>4 F5??>6OE ceFet'l, E>45DE(4M<5 <=D>D<4FtlN >5 ?lEF>G=tt>4E

F5??>6>= M=5D7<<, ?D>FO65==>EFOE GG4EF>>6 < >5>DG?>64=<<, ?>FD55?ONM5< F5??>6GN
M=5D7<N;

- E�5�5=}l/ > ?>>474F5?OE MDD5>&L{��>EF}l <E?>?L7>64=tIO M=5D75,I I1G5E>tlE DEE\,DE>6,
?D < =OFOE =4 ?D54?D}r OFL1l1,.

- >FG5F=4O 4>>G<5=F4F?rO ?> 6=54D5= }{N M =5D 7>E55D574N M l1x < 5D> ? D <OF< l"l ;

- ?5DE?5>F<6=O5 ??4=O, ?D>7D4<<O M=5D7>E55D565=ttO, F5E=L{>>-M>>=><<G5E>4O >F5=>4 1.1

?D>5>F=4O 4>>G<5=F4F}tO ?> F5E=>?>7}lG5E>><G t{?}l >D74=t{74Ftl>==><G E>65DL5=EF6>64=[]N ll
M=5D7>E55D574NMtl< <5D>?DlrOF}lO <, ?D<=OFO< =4 ?D54? D <OF< < ;

|.Z �=4?rr74>>G<5=F4?L=>= <=D>D<4F<<:
- EFDG>FGDO < 4<=4<<>< ?>FD55?5=}{O M=5D7>D5EGDE>6;
- 4tl=4<}l>I{ tl7<5=5=<O G45?L=OE D4EE>4>6 M=5D7>D5EGDE>6 ?> =4<5>?55 M=5D7>U<>}l<

F5E=>?>7<G5E><< ?>4D₠645?5=<O< }{ GEF4=>6>4< M=5D7>5?>>>6 2l0 ��F (6 >>?tlG5EF65
2 54<=<F);

- 4=4?L{7 EGM5EF6GNM<E =>D< D4EE>44 M=5D75FllG5E>!IE D5EGDE>6,
- ?>4D>5=Or'i 4=4?rr7 74FD4F =4 >464GN <5DG M=5D7>MDD5>F<6=>EFlr,
- 6OO6?5=<5 tr D4EG5F D4>FlrG5E><E 7=4G5=llr'i ?>>474F5?5= M=5D75FrrG5E>>=r MDD5>F<6=>EF?l

>F45?L=>7> >5>DG4>64=<O, F5E=>?>7r{G5E>>= ?<=<LI || F5E4 ?D54?D}{OF1,1O, }t 6OO6?5=<5
6?<ONM <E D4>F>D>6 =4 >E=>65 <=>7>D4>F>D=>7> EF4F< EF!{ G5E >> 7> 4 =4? ?r74,

_ 4=4?[I7 ?>?=>FO >E64F4 LF4F=O< ?D<5>D=O< GG5F>< 6OD45>F>lt lt ?>FD55?5=ltO
M=5D7>D5EGDE>6:

- 6O5>D =4lt5>?55 M=5D7>5<><E F5E=>?>7<t?5E><E ?>?D4745?5=?t= ?D54?D?rOF<O E
=4<5>?LL?{<, ?� ?D5464D<F5?L=>= >F5=>5, ?>F5=F<4?>< M=5D7>E55D565=<O :

�D5?64D<&5?L=>5 >?D545?5�<5 =4?D46�5=<ri M=5D7>E55D5r>5=rFO Ir M=5D7>MDD5>F<6=>EFlr;
�4 MF4?5 2:

2 l �?D5?5?5=<5 >5N5<4 =5>5E>4ll<>7> <=EFDG<5=F4?L=>7> >5E?5.FE-l64=tIO tl D47D45tll>4
D57?4<5=F>6 ?D>6545=t{O <7<5D5=<7r =4 >E=>64=<[-l 44==OE > EFDy>FGD5 ?>FD55?5=}lO. c\elvl
M=5D75FrlG5E>tlE ceTer"l, EE5< ?D<5>D=>7> GG5F4 tl EE5< F5E=>?>7tlG5E>tlE GEF4=>6>>.
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2,2 �D>6545=<5 <=EFDG<5=F₠LL=>7> >5E?54>64=<O 6 E>7?4E>64==>< >5N5<5. �4>
<<=<<G< 4>?6=O 5OFL 6O?>?=5=O <7<5D5=}rO E?54GNM<E ?4D4<5FD>6.

- D47D45>F>4 45FtL?L=OE ?>>474F5?5ti M=5D7>?>FD55?5=<O 11 74FD4F ?> >5>DG?>64=tlN.
?D>4G>FG <?< 54?{=<F5 ?D>4G>F<<;

- >?D545?ONM<E ��� F5E=>?>7<G5E>[lE >>F?>6
>5>DG?>64=<O;

- D45>FO F>??t{6=OE ceTeit ?D54?D<OF<O;

< F>??l,l6> <E?>?L7GNM57>

- D45>FO F5??>>5<5==>7> >5>DG?>64=<O, <E?>?L7GNM57> F5??>ttYN M=5DI.I!>] Ilapa.
>>=45=E4F4, 7>DOG5= F5??>E5F56>=t 6>4O E F5?LN >?D545?5=t{O ?>?=>FO tlE?>?L7>64=tlO
F5??>6>7> ?>F5=F<4?4 ?5D5G}rE?5==OE F5??>6OE M=5D7>D5EGDE>6;

- D45>FO ?4D>?D>6>4>6 tl 6>4O=OE F5??>6OE E5F5= E F5?LN >?D545?5=?tO D4>F<G5E><E
F5??>6OE ?>F5DL;

- D45>FO =4<5>?55 <>M=>7> F5??>>5<5==>7> >5>DG?>64=lrO, }.lE?>?L7yNtF57>
>5>D>F=GN 6>4G E F5?LN >?D545?5=?tO >5>E=>64==>EF< D4>F<G5E><E D4EE>4>6 >5>D>F=>li
6>4O 4?O =G64 >E?4645=<O =4 F5E=>?>7<G5E><E GEF4=>6>4E;

- D45>FO >>=45=E4F=OE E<EF5< E F5?LN 6OO8?5=<O =5D4FI{>=4?L=OE ?>F5DL F5??>6>=
M=5D7<<; i,

- ?>FD55?O5<>it <>M=>EF}l 6 D4E?D545?IlF5?L=OE E5FOE 4?O >?D545?5tltlO tl().7EDt,

M?5>FD>M=5D7}I tr;

- 747DG7>< E<?>6OE FD4=ED>D<4F>D>6,

- ?>FD55?O5<>= <>M=>EFtt =4<5>?55 M=5D7>5<><E F5E=>?>7}.lG5E><E ?>FD55trF5.lr5=

M?5>FD<G5E>>= M=5D7lrrt (=4E>E=>5, >><?D5EE>D=>5, 65=Frl?OF<>==>5 >5>DG?>64=<5) E F5?LN
6OO6?5=?lO =5?>?=>FO 747DG7>< >5>DG4>64=<O;

- M=5D7>?>FD55?5=<5 ?> Bpe<eHt{ <E?>?L7>64=<O,

- ?D>Gt{5 ?4D4<5FDO, =5>5E>4t{<O5 4?O 4=4?<74 M=5D75F?tG5E>>= ME$(l5>Flt6=>EFrt
M>E??G4F<DG5<>?i ) >5>DG?>64= ltO.

2.3 %>EF46?5=<5?D>F>>>?>6<7<5D5=lt=.

2,4 �D>6545=<5 65D<D<>4Ft{< 44==OE E ,tE?>?L7>64=[l5< <564G=4D>4=>7> >?OF4
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